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oy | AV ILIUH e 0 0 0 0 1 1
ER =A%y 0.00 0.00 0.00 0.00 0.01 0.01
RS™YA L RRRLSE | BEH 112 14 46 45 68 88
Eauy| 233 1.54 0.96 0.94 1.42 1.83
IR S R WEH 1 0 0 2 ] ]
eazy| 0.02 0.00 0.00 0.04 0.02 0.02
ABSRIEL Y | BEX 9 15 14 14 14 6
REmEELX  |EAsY| 0.19 0.31 0.29 0.29 0.29 0.13
R i ok M 21 24 43 30 25 40
Ea%Yy| 044 0.50 0.90 0.63 0.52 0.83
N ki ] 8 0 0 1 2 2 2
N =A%y 0.00 0.00 0.02 0.04 0.04 0.04
= |FRORK W 121 104 68 bh bh 35
= EA%Y|l 252 217 1.42 1.15 1.15 0.73
AT BE WEH 0 0 2 0 0 0
=A%y 0.00 0.00 0.04 0.00 0.00 0.00
EHMFELA W 11 16 11 16 11 17
A%yl 0.23 0.33 0.35 0.33 0.23 0.35
AR E—F HwEH 12 5 3 0 1 3
easy| 0.25 0.10 0.06 0.00 0.02 0.06
FAHE TR | BEH 0 0 1 1 1 0
=A%y 0.00 0.00 0.02 0.02 0.02 0.00
| BRI | BER 0 0 0 0 0 0
%t Easy| 0.00 0.00 0.00 0.00 0.00 0.00
T mTASREL | BESR 1 2 4 3 0 9
zasyl 0.08 0.17 0.33 0.25 0.00 0.75
T R R 0 0 0 0 0 2
=A%y 0.00 0.00 0.00 0.00 0.00 0.29
MEPEBAIE R 0 0 0 0 0 0
=A%y 0.00 0.00 0.00 0.00 0.00 0.00
® |R1ATSRAh| BEM 0 0 0 0 0 0
% A%y 0.00 0.00 0.00 0.00 0.00 0.00
£ o3asTRK | BER 0 0 0 0 0 0
GoLmERO |(EasY| 0.00 0.00 0.00 0.00 0.00 0.00
R i ok WL 0 0 0 0 0 1
(rav/LR) | EazY|  0.00 0.00 0.00 0.00 0.00 0.14
LTI M 0 0 0 0 0 0
(ABD &A%Y 0.00 0.00 0.00 0.00 0.00 0.00
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'f‘/LJl«I‘/*J" AN IUY HREH 0 1 0 0 0 0 1 30 0 1 0
ER Em5Y| 000 0.13 ] 000] 0.00 | 0.00 | 0.00 | 0.01
RS AL AR | BEH 10 0 1 17 a1 19 88| _ | _ | _
EmsEY| 091 ] 000 025 ] 1.55 | 410 | 2.71 1.83
O B ek |EH 1 0 0 0 0 0 1 3111 -
£m5Y| 0.09] 0.00( 000 0.00 | 0.00| 0.00 | 0.02
ABBmEL Y | BER 4 0 0 1 1 0 6 8|4l -
KERER | Em%Y| 0.36 | 000 | 000 | 0.09| 0.10] 0.00| 0.13
R X H|EH 3 1 1 14 6 15 40 20 1 2 _
Emsy| 027 020 025 ] 1.27 | 060 | 214 | 0.83
|/IJE: 7](‘]"5_ wmEH 0 0 0 0 1 1 2 2 1 1
ﬂ £m5Y| 0.00] 0.00 | 000 0.00 | 0.10 | 0.14 | 0.04
®  |FRORK HEH 6 4 0 9 3 13 35 5192 -
= EmsY| 055 0.80( 000 0.82| 0.30| 1.86 | 0.73
AT BE | 0 0 0 0 0 0 0 211 | -
Em5Y| 0.00] 0.00 | 000 0.00 | 0.00| 0.00 | 0.00
=R LA BEH 3 2 i 2 2 7 T -1
Emsy| 027 ] 040 025 ] 0.18 | 0.20| 1.00 | 0.35
AR FE—F W 0 0 0 1 0 2 3 61 2| -
£m5Y| 0.00] 0.00 | 000 0.09 | 000 | 0.29 | 0.06
RAMETIRE | BER 0 0 0 0 0 0 0 61213
Em5Y| 0.00] 0.00 | 000] 0.00 | 0.00| 0.00 | 0.00
R |BHmEEEL | BER 0 0 0 0 0 0 Ofl 1 1o0.1| -
& £m5Y| 0.00] 0.00 | 000] 0.00 | 0.00| 0.00 | 0.00 '
T Imetemeamg | BEH 0 4 3 2 0 0 N1 gl 4]l -
Em5Y| 000 400 | 3.00| 0.67 | 000 | 0.00 | 0.75
MBI 2 HEH 1 0 0 0 0 1 201 1 _ | _
Em5Y| 050 0.00( 000 0.00| 000 | 1.00 | 0.29
B 2 RS 0 0 0 0 0 0 ofl _ | _ | _
Em5Y| 0.00] 0.00 | 000 0.00 | 0.00| 0.00 | 0.00
2 |[R1aTSR<R| BER 0 0 0 0 0 0 of1 _ | _ | -
# Em5Y| 0.00] 0.00 | 000 0.00 | 0.00| 0.00 | 0.00
/;f HSISTRK 5 0 0 0 0 0 0 of| _ | _ | _
FoLmeR) |ExzY| 0.00 ( 0.00 | 0.00] 0.00 | 0.00 | 0.00 | 0.00
B SRS A ML 0 0 0 0 1 0 1 L
(@sy4LR)  |Em%yY| 0.00 ) 0.00| 000 | 0.00 | 1.00| 0.00| 0.14
AT NIVH WEH 0 0 0 0 0 0 ofl _ | _ | _
(ABR) £axy| 000 000| 000 0.00] 0.00| 0.00 | 0.00 .
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AR w= &R & “wH | ~578 |~1158| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80%%~
ey |[AVINTF | BER 1 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
R Em&Y| 0.01 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.01 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
5 BRI = & & wH | ~57A|~1158| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20/%~
RS™A L AR BEH 88 1 13 22 23 12 9 2 0 0 0 0 0 0 0
Em%Y| 1.83 1 015 027 | 046 | 048 | 0.25 | 0.19 | 0.04 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
IHEE WM 1 0 0 1 0 0 0 0 0 0 0 0 0 0
Em%Y| 0.02 | 0.00 | 000 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ARBEIEL LY | BEH 6 0 0 2 1 0 0 1 0 0 0 1 1
HEmEER | %Y | 0.13 | 0.00 | 0.00 | 0.04 | 0.02 | 0.00 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.02 | 0.02 | 0.00
el P WM 40 0 2 11 1 1 5 5 2 2 0 0 3 1 1
Em%Y| 0.83 | 0.00 | 004 | 023 ] 0.15] 0.02 | 0.10 | 0.10 | 0.04 | 0.04 | 0.00 | 0.00 | 0.06 | 0.02 | 0.02
ki WM 2 0 1 0 0 1 0 0 0 0 0 0 0 0
4 Em%Y| 0.04 | 0.00 | 002 | 000 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
® |FROFK HEY 35 0 3 10 11 5 3 0 0 0 0 0 0
& Em%Y| 0.73 1 0.00 | 006 | 0.21 | 0.23 | 0.10 | 0.06 | 0.00 | 0.04 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ERMATEE WM 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ERMEHELA WM 17 0 5 9 3 0 0 0 0 0 0 0 0 0
Em%Y| 0.35 ] 000|010 0.19 | 0.06 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AL E—F | BEH 3 0 1 0 0 1 0 0 1 0 0 0 0 0 0
Em%Y| 0.06 | 0.00 | 0.02 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
FAAMETRE | BEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Em%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AR w= &R & “wH | ~578 |~1158| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 704%~
B |AtEmi s BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) E=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.0 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T mearmmms | BER 9 0 0 0 0 2 0 0 0 0 0 0 0 0 3 3 1 0 0
EmA&Y| 0.75 1 0.00 | 0.00 | 0.00 | 0.00 | 0.17 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.25 | 0.25 | 0.08 | 0.00 | 0.00
R R B 0% 1~4 | 5~9 | 10~14 | 15~19 | 20~24 | 25~29 | 30~34 | 35~39 | 40~44 | 45~49 | 50~54 | 55~59 | 60~64 | 65~69 | 70AE~
BB % WM 2 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
Em&Y| 0.29 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.14
AR % WM 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Em%Y| 0.00 | 0.00 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
# |RAATSX<mH BEM 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
% E=%Y| 0.00 | 0.00 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T o537 WM 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
GoLmEERO | E®R%Y) 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
B EEL WM 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
a2 | Em%Y) 0.14 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
1oILIvYy | BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(AB)| E=ZY | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00




